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Teacher’s Introduction
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This resource is designed to be used for teaching AQA AS/A Level
Economics. The resource consists of 13 Data Response Case Studies
intended for students to complete as homework tasks. The case studies
are presented in specification order, collectively covering each topic in the
AS/A Level specification. Each case study contains detailed information

(including diagrams and data), and tasks and questions. \\\§
..
The ‘Use the data’ tasks focus particularly on quantitative skills, and the ‘Test y: §\§\§
knowledge and application skills. The extended-response questions are an opp %&\\\\\\\
higher-level analysis and evaluation skills. Most of the questions given are in e %\ §
g . . . i
limited questions to this style except in the case of the extended-response que h %
provided for all tasks and questions. T
Reading through each study and answering the questions is expected to take 20+ @\%\\\\}‘\\\
extended-response questions at the end of each case study. One option for usin; % %
p q Y p - \\\\\@\

study in class and set the exam-style evaluation question as homework. ,
s
e

S
T A

This resource will help prepare students for the Paper 1 component of the AS a
stimulate an interest in the real-world applications of microeconomics. Each casy
introducing the student to a fascinating array of contemporary microeconomic isz

i

&
| hope this resource helps you to bring economics to life for your students. @“\\\\\\\\\
Case Study Specr \&\&&\\3
1. Innovation at Ford 3.1.3.2 — specialisation, divi \\\\:
- — 3
2. Black gold 312 - pr!ce determ!nat!o \\\\\\\\X&R
3. The UK dairy market in decline 312~ price de_termmatlo
3.1.3 - production, costs ar;
4. Football ticket prices 3.1.2 - price determination:
5. Organic food vs Poundland 3.1.2 - price determination:
6. Online news vs print news 3.1.2 - price determination
7. The UK housing market: pulling up the | 3.1.1.1 — economic methodok
ladder? negative externalit
8. Market power: Gazprom 3.1.4 - competitive and co
9. Quasi-public goods 3.1.5.3 — public goods, priva
10. Should the government tax sugar? 3.1.5.8 — government interv
11. Solar panel subsidies 3.1.5.8 — government interv COPYRIGHT
12. A minimum price for alcohol? 3.1.5.8 — government interv PROTECTED
13. Reforming the NHS 3.1.5.9 — government failur

R

Free Updates!

Register your email address to receive any future freeéi
made to this resource or other Economics resources v
has purchased, and details of any promotions for y

* resulting from minor specification changes, suggestions from teacher;
and peer reviews, or occasional errors reported by customers

'3

o3

Education |

Go to zzed.uk/freeupdates [~
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Innovation at Ford

This case study requires knowledge of Section 3.1.3.2 — specialisation, divi

In the early twentieth century, the automobile manufacturer Ford was wi
the increase in Ford’s profits over time, compared to modern-day equiva

Figure 1: net profit (pre-tax)

*Third quarter only
Source (Ford 1910): ‘Did Henry Ford Pay Efficiency W

Of course, the figures are not directly comparable but the percentage chan§ 5

the period 1910-1915 far exceeds that of most modern-day companies. A
automobile market was booming, there are two main explanations for Fo
the production process and so-called “efficiency wages’.

Improvements in technology meant that Ford’s workers could operate on .
specialised in their particular task, allowing for greater productivity and ¢

Smith’s pin factory idea). Ford’s competitors were also able to benefit fro
the reason that Ford was able to excel above its competitors was through

Standard economic theory would suggest
that a firm would only increase its wages if
it sought to attract higher-skilled workers,
but in this case that doesn’t seem to hold
true. Although increasing the wage (to
around twice the market rate) did increase
Ford’s costs, this was more than offset by
improvements in productivity. Between
1913 and 1914, production increased by
15%, despite reducing the number of
workers by 14% and cutting the number of
working hours in a day (although part of
this may be due to improvements in

Ford (Smillion, 1910) Volkswagen (€billion)
1910 4.2 2010 7 -
1911 7.4 2011 11.3
1912 13.1 2012 11.5
1913 26.5 2013 11.8
1914 304 2014 12.7
1915 36.9 2015 -1.7%

technology / production methods).

One of the big problems Ford had in the year prior to the wage change ws

(around 10%), perhaps because working in a car factory was so unpleasar:

absentee rates fell to only 2.5%, and the number of discharges (firing of wex

workers were so keen to keep their jobs.

Ford saved a lot of money at the time by dramatically reducing their turn
can partially be explained by an economic downturn at the time, there do

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 2 of 37
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that paying a higher wage incentivised workers to stay with Ford and inc
This was particularly important for Ford, since on an assembly line the ef
depends on the speed of every part of the line.

Some have argued that Ford’s experience provides evidence for raising thi:
introducing a living wage. This is not necessarily the case, however, since |
policy was that their wages were high relative to their competitors. If every@éasg
minimum wage, the incentive effects for workers probably wouldn’t be as

Use the data

1. (a) Calculate the percentage change in profit for Ford between 1912 and
(b) Calculate the percentage change in profit for Volkswagen between 20

2.  Why did Volkswagen's profit fall so much in 2015? (If you don’t know — loo

3.  Name one disadvantage of specialisation in the automobile industry, and e
problem.

4.  Which of the four factors of production do you think contributed most to Fo

Test your knowledge...

1. Show the effect of specialisation in the automobile industry using a produc
number of cars on the x-axis (horizontal axis) and number of other goods o
Assume that productivity in other industries remains the same.

2. Show the effect of high worker productivity on a demand and supply diagre%é

Extended-response question

1. Assess the pros and cons of specialisation in the teaching profession (e.g. w

subject rather than a range of subjects).

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 3 of 37
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Black Gold

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

This case study requires knowledge of Section 3.1.2 — price determinatio

i

Investing in commodities is a big business. Speculators vie to S R
ict pri ' iti S
predict lzlrlcef fmoviments? in all so;ts of com:ll}f(;filtlles such gs goﬁ; . g\\\\\\\\\%
m?at and coftee — but prices are o t?n very difficult ’Fo Pre ict. The & s
price of the most valuable commodity of them all, oil, is \ \\\%
notoriously unpredictable. ‘ \ R
S
Swings in crude oil prices not only decide the fate of investors and @i\\\\ \\\
%

"

oil companies, they can also have a huge impact on whole

economies, particularly those that rely on oil production as a main b\k\\\\\\%\
source of income. Figure 1 shows the world price of oil since 2007: o
” iy,
Figure 1: crude oil price (20072016, monthly) e
140 \\\\\\@\
i
120 =
100 /\ §\\\\ \
: 5 ‘
| \nf gy
S 80 \\\
: sl
S m
2 b
S
a
60
40
20 4
S ] 3 3 o o ) COPYRIGHT
Q Q Q Q Q S g COPYRIGH]

The volatility in the oil price can be explained through simple demand an(
2008 global financial crisis, a fall in demand was the key reason for the plti:
global demand is still somewhat weak, and there is a growing interest in
the main explanation for the more recent price drop (2015 onwards) is tha

'3

o3

Education |

Advances in technology have allowed production of shale oil in the US to
The relaxing of economic sanctions in Iran has also enabled them to increa:
addition to this, oil production by OPEC members (Organization of the Pe
such as Saudi Arabia has remained high. Some argue that since OPEC co
costs, they are trying to force their competitors out of the market by delib

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 4 of 37



If this is the case, they may well be succeeding. British Petroleum (BP) is ¢

of its total employees), and many other large oil companies are cancelling

Russian and Venezuelan economies, which are heavily dependent on oil e

Obtaining estimates of the price and elasticities of demand and supply for%

generally accepted that the demand for oil is price inelastic (particularly ir;
supply has become less price inelastic as the number of different methods
has expanded.

Use the data

1. Using Figure 1, estimate the percentage decrease in the oil price from the st

2016.

2.  Why is the price elasticity of demand for oil expected to be lower in the sho:

Test your knowledge...

1. Explain how a growing interest in the renewable energy sector would be ex

demand for oil.

2. Based on the information in the article, use demand and supply diagrams tc

market:
(a) During the financial crisis
(b) After 2015

Extended-response question
1. Suppose that a technological breakthrough made a particular type of renew

Using a diagram, evaluate the effect of this development on the market for

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 5 of 37
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The UK Dairy Market in Declj;;

This case study requires knowledge of Section 3.1.2 — price determination in a

production, costs and revenue.

Dairy farmers in the UK had a very rough year
in 2015. In January, First Milk, a large dairy
processor that farmers sell their milk to, ran
into financial problems, resulting in a two-
week delay in payments to farmers. Following
this, throughout the year various factors have
combined to reduce the price of milk. This has
meant that many farmers now operate at or
below their costs of production.

Figure 1 shows UK milk prices over time. This
is the ‘farm-gate price’ — the price at which

farmers sell milk to dairies (who then process
the milk and pass it on to retailers). As such, the farm-gate price is typical;
supermarket:

Figure 1: UK average price of milk (Jan 2010 — Dec 2015)
40.00

35.00

30.00

25.00

20.00

15.00

10.00

Farm-gate price per litre (pence)

5.00

0.00

Jan-10

Jul-10 4
Jul-11 1
Jan-12 4
Jul-12 1
Jul-13 1
Jan-14 A

Apr-10 A1
Oct-10 A
Jan-11 4
Apr-11 A
Oct-11 A
Apr-12 A
Oct-12 A
Jan-13 4
Apr-13 A
Oct-13 A

Source: Departmel

One of the reasons why prices are so low is that there is an excess supply

partly due to good weather conditions (farmers were affected by few drouy

and there was a bumper grass harvest).

The fall in supply has been coupled with a fall in global demand: the slo
has reduced their demand for all sorts of goods including milk, and econ
prevented them from importing milk from UK producers. Domestic de
milk consumption in the UK has fallen by 18% over the last 20 years.

Other factors hurting UK producers have been price wars in UK superm
some supermarkets price milk very cheaply to attract people into the sho

buy higher value items (in some cases, milk has been cheaper than water);

has also hurt farmers.

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 6 of 37
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These factors forced some UK dairy farmers out of the market in 2015. Th:
the industry, as Figure 2 shows:

Figure 2: Total dairy producers, UK 1995-2014
40,000

35,000 -\

25,000 \
20,000

’

w
o

o
o
o

[EnY
U
o
o
o

10,000

Total dairy production holdings

5,000

19951996 1997 19981999 2000 2001 2002 2003 2004 2005 2006 2007 2008 &

Another reason for the decline in the fortunes of dairy farmers could be k.
Between 2013 and 2015, the market value of nut- and seed-based milk alte
increased by 177%. Consumers are willing to pay more for these alternati

Some commentators argue that milk has been homogenised and treated s¢
longer aware that there can be a great variety of different tastes between n:
bacteria in milk by heat treatment) started as a wartime necessity for prolc
nowadays milk still tends to be produced as cheaply as possible with little
Perhaps this matters less in the UK where milk is usually added to tea, cof
consumed on its own (as in some other European countries), but the lack ¢

may be another reason why the industry is in decline. -

Use the data

1. State the three functions of the price mechanism.

2. Look at Figure 1. Estimate the percentage change in price between the pea;%s:zg
2015. .

3. ‘If the number of dairy producers in the UK is falling, the price of milk will r|<

Test your knowledge...

1. Show the effect of a fall in demand and an increase in supply on the market%%

R R

2. Identify one possible fixed cost and one possible variable cost for dairy farm

3. If demand for milk is price elastic, what does this suggest about the average re

Extended-response question

1. Evaluate whether the rise of milk alternatives, which sell for much higher pr”
is good or bad for milk producers.

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 7 of 37
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Football Ticket Prices

This case study requires knowledge of Section 3.1.2 — price determinatio

Football is the world’s most popular sport.
Consequently, there is an awful lot of money
involved.

When it comes to pricing match-day tickets,
football clubs have something of a dilemma. On
the one hand, seats for Premier League matches
are rarely left empty, so increasing the prices
should be a guaranteed way to increase
revenues (and revenue is very important for
staying competitive, particularly for attracting
and retaining top players and managers). However, raising prices too mu
football can be a fundamental part of their lives. For many fans, watching
substitute for attending the game in person.

Liverpool experienced this first hand in February 2016, when they increas
expensive tickets from £50 to £77. Over 10,000 Liverpool fans walked out:
in protest — so Liverpool’s owners reversed the decision.

Figure 1: Match-day ticket prices (Premier League clubs)
120
100
N
. N X
X X
g st
— R
o W
4 R
O N
= R
2 60 - ]
- N 3
> N
5] R X
° N : N
- X X
£ 40 - \
20 - § =
N 3
& & c,?? & F <>c\ \3"6 o & 6{3' o A%\'b
& c'}:z\ @ S & & & P E & & & & P
v&(‘,\&‘&@@ & N %v,;&c,

The proportion of a club’s revenue that comes from ticket sales varies: Li
increasing the price of tickets seems like a guaranteed way of increasing re
left unsold for Premier League clubs). Although this figure is often lowe
City’s is around 7%), it still represents a valuable source of finance.

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 8 of 37
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However, fans have argued that since revenues from TV deals are increa

Figure 2 shows that the value of televised football has increased significan

Figure 2: Value of Premier League TV rights, 1992-2019

6

@8

® 5

>
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oo

8

- 53

9«

5

£ 2

(Yo

o

[ V] :

= 1

(] 3

=
0 “‘&N‘&\ T L] T T ;

1992-97  1997-01  2001-04  2004-07 2007-10  2010-13

For 2016-19, Sky and BT both increased their bids for the TV rights signifig

years to claim the market.

Given this windfall for clubs, some argue that it is only fair that this trans
But from a purely economic motive, clubs might be tempted to stick with

demand for tickets will stay strong, and that it could give them a competit

Use the data

1. (a) According to standard economic theory, are Premier League tickets prii:

equilibrium market price?

(b) In this case, which of these are true?
i. Thereis an excess of supply over demand
ii. There is an excess of demand over supply

2. Why do you think ticket prices are so much higher for Arsenal, West Ham,
other clubs? (Hint: you need to know where these clubs are located to ans

3. In economics we usually assume that firms aim to maximise profits. Do you::

clubs?

Test your knowledge...

1. Suppose a football club increased its ticket prices by 20%, and demand for tis

(a) Calculate the price elasticity of demand.
(b) What does this value suggest about the elasticity of demand for footb

2. (a) Draw the market for football tickets using a demand and supply diagra
inelastic and demand is relatively inelastic.

(b) Using your diagram from part (a), show the effect of an expansion in th;

the market for tickets.

Extended-response question

BT,

1. Discuss the argument that clubs should increase prices to the market equil

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 9 of 37
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Organic Food vs Poundlan;

This case study requires knowledge of Section 3.1.2 — price determination in a co::

- s
income elasticity of demand. - \
r -
The global financial crisis of 2008 caused a recession in the UK. People’s it \\\ \\\
on consumer spending. This created winners and losers in the business w: _—
was the discount retail market, as people adjusted their shopping habits t \

Poundland is a prime example: between 2008 and 2013, its total sales jump:

. ..
Figure 1 shows Poundland’s changing share of the total retail market over |

V///
f//%’

///////@V/////{,

iy,
market was worth £360bn): \\\
\
; &
Figure 1: Poundland’s market share (2008-2013) \\\\\\}\%
0.3 ) k

\
$ 0.25 @\\\\\\\\
S .
S 02 "
S S \

T \\\x

E 01 -

e 0.05 - § \§
0 -1 §\\\
2008 2009 2010 2011 \ |
Fipged
sy
\\

Interestingly, the performance of Poundland (and other discounters such
have stayed strong long after the economic recovery. This could indicate
perhaps a feeling among households that incomes haven’t recovered suffi;

In contrast to the discount retailers, purveyors of pricier products have ha% 5
shows the changes in total sales of organic produce in the UK between 20(?;:
sales in 2014 were £1.86bn, on par with 2009 levels): :

Figure 2: UK organic market, total sales

6
: COPYRIGHT
PROTECTED
& -2
: ig
< -8 »
10 9
- Education

2008 2009 2010 2011 2012
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The UK organic market was hit hard by the recession,
recording four consecutive years of negative sales
growth. That trend does seem to be reversing now
though, and many analysts are confident of strong
growth in the coming years.

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

-

7,

Notably, the organic markets in some other countries W§
were not as badly affected: Germany and France saw R
. e many . .
consistent growth in the organic market, despite the —
global recession. This is partly due to different § \§\;\
consumer tastes (in F?ance, almost 9 out 10 people @\\\\\\\\
consume some organic products), but also due to \\\ 3

iy

larger- scale production in these countries. In the UK,
rising demand for organic products has yet to be met
with increased domestic supply.

s
=

L

> 4

i

o

A

&

i

o

E

Use the data

1. Using the information in the article, calculate Poundland’s share of the reta

2. What would you expect the income elasticity of demand for Poundland’s p

s,
s

3.  Why might consumers be happy to continue shopping at discount retailers
recession?

////////

i

e

P,

5

Test your knowledge...

1. (a) Suppose consumer incomes fell by 5% in 2009. Using Figure 2, calcula TR
o . "
elasticity of demand for organic produce. E

(b) Explain whether your answer to part (a) is also true for France. \\\\\\\\&ﬁi

Extended-response question

1. Assess the likely impact of a significant rise in consumer income on the mar
organic goods. =
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PROTECTED
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Online News vs Print New

This case study requires knowledge of Section 3.1.2 — price determination in a co
cross elasticity of demand. -

The news market has been reshaped dramatically in the past few decades
news services. As online news has grown, newspaper circulation in the U
Figure 1:

Figure 1: UK newspaper circulation 2005-2015 (selected papers)
3.5
3
= 2.5
=
2
e
- 2
.2
=
>
215
(&}
]
>
5
< 1
0.5
0
2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

All of these papers offer online news as well as print news. Some of them
require a subscription to access the rest (Daily Telegraph, The Times). This ¥
successfully by The New York Times in the US. Others post their content fo
advertising revenues to fund it (Daily Mail, The Guardian, The Sun). The fo:
Andrew Miller, explained in 2013 that they would not be implementing a
build up a digital audience first.

So if free digital news is so abundant (particularly with the BBC,
which is government funded), why has paper circulation not
evaporated completely? There are some arguments to suggest that
online news and print newspapers are not perfect substitutes.

Firstly, some content is quite exclusive or technical (e.g. Financial
Times, The Economist) and cannot be easily accessed for free — so it
would make sense that the print versions (or the paid online services)
of these types of publications have been protected. Also, some
consumers do not have access to the Internet and cannot swap their
paper newspapers for online services.

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 12 of 37
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There is also some evidence that readers who use actual newspapers reta
who use online news. For one thing, in paper newspapers it is easier to e
stories (i.e. more important news stories come nearer the front of the pap
news, since most news items are stand-alone, it is harder to determine th
online news services are more likely to break up their articles with adver
another page —both of these could weaken the reader’s concentration.

Ultimately, some readers just prefer reading something on paper than rea

who prefer hard copies of books to digital versions. As such, the print ne
alive and well for the foreseeable future.

Use the data

1. State two goods that you think are stronger substitutes than online news ar;

2. Look at Figure 1. Which type of newspaper has declined more in recent ye

or broadsheets?

3. Using Figure 1, estimate the decrease in the total circulation of the five ne
and 2015.

4. Based on the article, why might some publications be better off using a pa

Test your knowledge...

1. (a) State the formula for cross elasticity of demand.

(b) Suppose the cross elasticity of demand between online news and print:;

print newspapers increased by 6%, calculate the change in demand fo

2. Using the article, explain two reasons why the online news and print newsp

Extended-response question

1. Assess the extent to which a fall in the price of tablets/e-readers would aff
online news.
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The UK Housing Market: Pulling Up

This case study requires knowledge of Section 3.1.1.1 — economic methodology
externalities.

S
R
3
¥
§
§
¥

Why are house prices in the UK so high? In popular areas such as Londo
price range of those on average salaries. Ceteris paribus (other things bei

rising naturally due to changes in the population: via ageing and immigr
of people living alone. However, the main cause of the soaring prices is ai;
In a speech in November 2015, George Osborne (the Chancellor) describe
housing as one of “the great social failures of our age’.

Figure 1:

250,000

200,000

150,000

100,000

Average Price (£)

50,000

Panel 1 — UK average house prices. (monthly,

Panel 2 - Us

1983
1985
1987
1989
1991
1993
1995
1997
1999
2001
2003
2005
2007

Note: price earnings ratio = price + earnings, where earnings = average earnings for men in full-t

6
5.5
5
‘9 A
® 45
o0
£
£ 4
L/
¢
a
3
Qoo MmN o '
Socoo PR g
NR SR SHECMRCIH

One problem is the lack of skilled workers in the housing industry. Altho
contributed strongly to the construction sector, there is an acute shortage
plasterers, bricklayers and electricians. This has been blamed on a cultur
these and vocational training in general are seen as second-rate, even tho
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rewarding and valuable for the economy. A second barrier to expanding .
belt” system that protects the countryside from urbanisation: this is highly

The excess of demand over supply has made it much harder for young pe

ladder. More young people in their 20s are staying with their parents or r

change in the composition of housing tenures over time:

Figure 2: share of households by type of tenure (1991-2014)
50%

45%

40%

35%

30% ammsEsmEEEEEEE

25% T Lt

20%
15%

10%
5%

1991 1996 2001 2006

0 % T T T T T T T T T T T T T T T T ‘\‘

=@ owners (outright)  ===e==rowners (mortgage)  =—f== social renters%

Source: Housing supply in 201

As social rent housing and outright home ownership have declined, priva

own a home (via a mortgage) has increased.

Government policy on this issue has included the ‘help to buy” scheme, w
financial assistance from the government, in the form of a loan. The gove
relax planning rules, allowing 200,000 homes for new buyers to be built b
(with capped prices to make them more affordable). Since homes are by f
most people will make in the UK, making these policies work is of param

Use the data

2. The two panels in Figure 1 show that both the average price of a home and
increased in the last few years. What can you infer about average earnings

Test your knowledge...

1. Is George Osborne’s statement in the first paragraph positive or normative

2. (a) Explain what is meant by a negative externality.

(b) How could negative externalities arise from the building of new houses;

(c) Show this using a diagram.

Extended-response question

1. Look at Figure 2. By how much did private renting change between 2001 ari;

1. Discuss whether the government’s policy to relax planning rules and build n

for the UK.

AS/A Level Year 1 AQA Data Response Case Studies: 3.1 Microeconomics Page 15 of 37

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

e

PN

&

e

.

Z

s
s

HE

)

i

s

g,

s
=

g -

&\\\\\\\\\\\\\ﬁ

e

i

A

&
g

s

i

i
it

i

i

g
G

i

e

////@

5

COPYRIGHT
PROTECTED

'3

o3

Education |




Market Power: quprom

This case study requires knowledge of Section 3.1.4 — competitive and:

In economics we can distinguish between competitive markets and marke

monopoly power. A highly competitive market (such as the agricultural n
farmers trying to sell their wares and no one farmer has a particular advar

to lead to low prices for consumers and tight profit margins for producers,
with monopoly power might be able to overcharge consumers and make ¢

Most of the time, monopolies can’t exist: either they become the target of

the market and dilute their market power. There are some potential candig

though, including Gazprom, the Russian gas company.

Gazprom is the largest company in Russia, and the largest gas producer 1r

exports to Europe reached an all-time high in 2015, as Figure 1 shows:

Figure 1 — Gazprom exports to EU countries

180

160

140

120

100

80

60

; -

Annual gas exports, billion cubic metres

\
oo B

20 \\

1973 1975 1985 1990 2005 2010

Gazprom meets around 20% of the demand for gas in Europe, which mak .

such an important industry. There is concern that Gazprom’s size has restr:
market, particularly in Central and Eastern European economies (includin
Hungary and Bulgaria), leading to higher prices for consumers. EU regula

claims, but it is a delicate matter given the political tensions between the Ri:

Despite Gazprom'’s apparent monopoly power, some recent observations i
power is diminishing. In April 2016, the first export of liquefied natural ga:
Portugal, due to an oversupply of gas in the US (which means low prices).
is mostly due to the shale gas revolution, which has transformed the US iri}

energy market (possibly at the cost of environmental damage).

This development could lead to a more competitive energy market and lo .
although it is not clear yet whether or not this will be a severe blow to the::

R SRR
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Figure 2 — Gazprom’s share of gas production
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\\t\ < e B \{\
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Note: Figure 2 indicates that in 2009 79.2% of Russia gas was produced by Gazprom, and Gazprom%
Use the data

1. Look at Figure 1. Why might Gazprom’s exports have fallen between 2005 a

2. Based on Figure 1, can you tell whether or not Gazprom made higher profit

3. (a) According to Figure 2, if Gazprom produced 400 billion cubic metres of
produced in Russia in 2013?
(b) How much was produced in the world in 2013?

Test your knowledge...
1. State two possible objectives of firms.

2. Using a diagram, explain how a monopoly can benefit from economies of s

Extended-response question

1. Explain the likely effect of the US entering the gas market on prices for con
and profits for Gazprom.
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Quasi-public Goods

This case study requires knowledge of Section 3.1.5.3 — public goods, private &
One of the graphs also requires interpretation of index

Public goods are usually provided by the government rather than
the free market: a typical example is national defence. Some
goods are not quite as pure-public in the same way as national
defence: these are known as ‘quasi-public goods’. In the UK,
some quasi-public goods provided by the government have been
under increasing strain over the past few years.

Roads

Figure 1: Annual and quarterly road traffic index (Great Britain)
135
130
125
120 7

A
115 TR
o P
110 A :,‘ it X \ M L
T v
105 1+ i
‘,'/H/(: Y
100 4l

95 -

Index of All Motor Vehicle Traffic (1993 Q4 = 100)

Q4 1995
Q41996
Q4 1997
Q41998
Q41999
Q4 2000
Q4 2001

== |ndex (annual) = === Index (quarterly)

Note: traffic is measured by vehicle miles travelled. Q1 =Jan, Feb, March; Q2 = Apr, May, Jun;

Road traffic was at its highest level ever in 2015, due to a growing econom:
Van (or light commercial vehicle) traffic in particular rose significantly, p
online shopping and delivery.

Excessive congestion can be very damaging for the economy, in terms of &
and time wasted. It has been casually observed that traffic in busy cities
worsening, and the statistics in Figure 1 would seem to support this.

It would be costly for the government to improve the road system: perha
improved when technology for driverless cars advances.
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Police force

Figure 2: changes in total government spending on the police

Average annual percentage cha
1995-96 to 2000-01 | 2000-01 to 200506 | 2005-06 to
[ Total spending 1.4% 4.1% 1.4%

Figures are in real terms (adjusted for inflation).

As part of the coalition government’s austerity policies to balance the bud
a total of 14% between 201011 and 2014-15. The formula for allocating gi:
different areas is very complex, so some police forces were cut more severy

There were plans to cut the police budget further from 2015-2020, but the
made an unexpected U-turn in November 2015 (during the Autumn Statei
attacks in Paris and a rise in domestic cyber-crime, the Chancellor decidec
from further cuts. This may also have been influenced by the strong econe
time.

Hopefully this change in policy will allow the police service to continue to

Use the data

1. Look at Figure 1:
(a) Explain why the quarterly road traffic figures follow a ‘saw-tooth’ patte
(b) Explain why annual road traffic might have fallen after around Q4 2007
(c) If total vehicle miles was 300 billion in Q4 1993, roughly how many mil

Test your knowledge...
1. Explain the two main characteristics of public goods.

2. (a) Areroadsan example of a pure-public good? Explain why or why not.
(b) Is policing an example of a pure-public good? Explain why or why not.

Extended-response question

1. Examine why public goods such as roads and the police force are unlikely to &
market.
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Should the Government Tax

This case study requires knowledge of Section 3.1.5.8 — government interven
indirect taxation.

The government taxes certain products because they are deemed damagir%
examples in the UK include tobacco and alcohol, which have well-known
health when consumed in excess.

Figure 1: Current UK tax rates on tobacco and alcohol (not including V.

Tobacco
Cigarettes 0 L Beer
(pack of 20) 16.5% of retail price plus £3.79 (2.8%—7.5% ABV)
Wine
Hand-rolling tobacco £4.64 on a 25g packet (still 5.5%—15% ABV)
Spirits

Source: hitps:/ /www.

In 20142015, the government raised £10.5 billion from
alcohol and £9.6 billion from tobacco — together these
account for around 4% of total government tax revenue
(almost as much as taxes on fuel). Taxes on these sorts
of products serve a dual purpose: firstly to reduce
consumption, and secondly to generate tax revenue.

The government is reviewing whether to add sugar to
the list of goods it taxes. The argument is that
excessive consumption of sugar leads to greater strain
on the NHS, particularly through conditions such as
diabetes (which is estimated to eat up a whopping 10%
of total NHS spending). With an ageing population, NHS spending is onl.
action to reduce sugar-related illnesses could be important. Providing inf
eating too much sugar may not be enough — people may need a monetary
their habits.

However, this would almost certainly be an unpopular measure since —ri
such a large part of many people’s diets. The government would think tw
sugar tax, as they risk being seen as running a ‘nanny state” and potential
possible compromise would be to tighten the requirements on the amoun
sugary drinks can contain.

The real question economists have to answer is how effective different mey
sugar consumption. =
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Use the data

1. Suppose the price of a pack of 20 cigarettes is £8. Calculate the proportion
(assuming no VAT).

2. Are there any dangers of having high rates of tax on cigarettes?

3.  How much tax would you pay for half a litre of 4% ABV strength beer?

Test your knowledge...

1.  What kind of market failure do goods such as tobacco and alcohol create?

2. Suppose that a higher tax rate increases the price of alcohol by 5%, and de
(a) Calculate the price elasticity of demand.
(b) Is this elastic or inelastic?

3. Explain the possible implications of a sugar tax for inequality.

Extended-response question

1. Discuss the effectiveness of introducing a tax to reduce consumption of sugg:

answer.
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Solar Panel Subsidies

This case study requires knowledge of Section 3.1.5.8 — government intervent{s
subsidies.

One of the ways a government can intervene in R
markets is through subsidies. The idea is usually to

help nurture an industry of strategic importance, or to

ensure the supply of certain goods and services.

Recently there has been controversy over cuts to solar
panel subsidies in the UK. In December 2015, the L
government announced that it would cut the FIT -
(feed-in tariff) scheme by almost two-thirds, and

introduce a cap of £100m a year. The FIT scheme is

an unusual form of subsidy: it pays households (via  &&
energy suppliers) for electricity generated by solar panels, at

Following the cut, this has fallen to 4.39p per kWh: the cut was originally
84%, but it was changed following criticism. People who purchased solar
benefit from the higher rates. -

The government’s argument was that subsidising the scheme was costing i
(estimated at £7 per household each year), since improvements in technol¢
installing a solar panel system to drop significantly over the past few year;
£5,000-8,000). The government acknowledges that cuts to the system are it
the industry: between 9,700 and 18,700.

The announcement has been met with fierce criticism by environmental gz
coincided with the Climate Summit in Paris) and others. They argue that
enough to operate without support, and point out that fossil fuel industrig
larger subsidies.

In the UK, subsidies for fossil fuel producers (often in the form of tax brea:
averaged $9bn (roughly £6bn) in 2013 and 2014 according to the Overseas:i
tank. The bulk of these subsidies come in the form of tax relief for the cost:
decommissioning oil rigs. Subsidies are set to increase, the idea being thaf
consumers. -

There are concerns about the UK’s ability to meet its environmental target
UK’s aviation industry also benefits from an estimated £10bn a year in fue:
aviation being widely regarded as the most polluting form of transport.

Fossil fuel subsidies are considered particularly harmful in developing cox%
consumers see little or no benefit (since so few own cars or home applianc:
and Indonesia are scaling back these types of subsidies. .

Figure 1: Subsidies for fossil fuel industries, G7 countries

Country Canada France | Germany

National Subsidies (annual average, $hn) 2.7 0.125 2.8

Note: recent changes to UK policy (increases in subsidies) are not captured here.
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Use the data

1. Assuming that there are 25 million households in the UK, calculate the follo
in the article:
(a) Find out the estimated total cost of the subsidy per year (before the ¢
(b) How much more is this than the new cap on spending?

i
"
&‘\‘\\‘\“\\‘\\;\&\\\\‘Q\\

e

PN

&

e

.

2. Look at Figure 1. How do the UK'’s fossil fuel subsidies compare with the ot

3. Using the information in the article, what would be the value of the solar p
original 84% planned cut had gone through?

Z

s
s

HE

)

Test your knowledge...
1. Explain two disadvantages of using subsidies.

i
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g,

2. Name one way other than subsidies in which the government could encoura€§§
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Extended-response question
1. Evaluate the case for increasing subsidies on solar panels.
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A Minimum Price for Alcoh

R R

This case study requires knowledge of Section 3.1.5.8 — government if;;
The focus is on price controls. '

Consumption of alcohol has negative externalities (it is a demerit good).
of alcohol consumption is less than the current level of alcohol consumpti

Alcohol is already taxed (see Figure 1 in Sugar case study), but the Scottis
want to go further and introduce a minimum price for alcohol to curb exc

R AR

In 2012, the Scottish Parliament passed legislation that would impose a mi
on alcohol. This would mean, for example, that a two-unit pint of cider oz |
have to cost at least £1 and a litre bottle of vodka at 40% ABV would have |
since proposed a 50p tax rates as well. The idea is that this would reduce
heaviest drinkers (who are likely to choose very cheap alcohol). -

In England, David Cameron considered the idea of a 40p minimum price,
grounds that there wasn’t enough evidence that it would reduce consump;
policy in Scotland have gone further: the Scotch Whisky Association (SW
legal grounds, arguing that it would restrict competition between produc
consumers.

After some deliberation, the European Court of Justice (ECJ) argued that t .
there were other measures that could achieve the same result without res
matter is not yet completely settled, it has returned to the Scottish courts t
be successfully argued that the policy is the best way to target heavy drin
(possibly in conjunction with higher existing taxes).

The statistics in Figure 1 suggest that people in the UK are gradually mod
The average number of people who drink no alcohol at all (teetotallers) in
between 2005 and 2013, while the average number of binge drinkers fell f

Figure 1:
Panel 1 — UK binge drinking rates by age group Panel 2 - UK te
(2005-2013) (200
30 35
g 25 & 30
c <
8 2 25
& 20 S
2 2 20
e e
215 “
13) g 15
S 10 g
° o
g 5 S s
a a
0 L] L] T L] L] T L] 1 0 L] T
2005 2006 2007 2008 2009 2010 2011 2012 2013 2005 2006 2007
= 1624 == = 2544 mQmm 4564 mm—G5+ —0—16-24 = =

Participants were asked about their drinking habits in the past week. Binge drinking is counted as%
or six units (for women) on a single day. Men tend to binge drink more than women (18% of meni
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Nevertheless, since alcohol contributes so much to health
problems in the UK (in Scotland the cost has been estimated at
around £900 per adult), there may well still be a case for
introducing a minimum price. The economic arguments around
this issue are important. If economists could accurately predict
how different government policies on alcohol would affect
consumer behaviour, it would be much clearer whether the
policies would be good ideas or not.

Use the data

1. The passage states that with a minimum price of 50p per unit, a one-litre bc:
would cost at least £20. With a minimum price of 40p per unit, what would::
bottle of 44% strength whisky?

2. Inyour opinion, does Figure 1 suggest that we should be concerned about

3. Look at Figure 2. Which age group recorded the greatest increase in teetot

Test your knowledge...
1. Show the effect of imposing a minimum price on alcohol using a demand a

2. Give an example of a merit good, and explain why merit goods might be un

Extended-response question
1. Evaluate the effectiveness of imposing a minimum price on alcohol to reducs

R R R
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[ ]
Reforming the NHS
This case study requires knowledge of Section 3.1.5.9 — gove s \
In the UK, if any of our institutions is a sacred cow, it is the NHS. The va \\\\
.. . i
\\\
the principle that healthcare should be free at the point of use. \\\\\ \\b
Figure 1: satisfaction with the NHS 1983-2014 \\\\ \
e \
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(Note: numbers don’t add up to 100% because the remainder are undecided. Question not askec:i e
Question asked: ‘All in all, how satisfied or dissatisfied would you say you are with the way in wh \\i\\\\
s

nowadays?’

Despite this, there are concerns about the sustainability of the NHS in its
government spending each year goes towards the NHS, and with the agei
rising rates of obesity in the UK (already the highest in Western Europe),
rise unless economic growth increases just as rapidly or government polic

Figure 2 shows how well (or poorly) the NHS has met its budget requirem
The figure for 2015/16 is somewhat alarming (especially since it is a relatis
deficit of £0.93bn was recorded for April-June 2015 alone).

Figure 2: NHS trusts end-of-year financial results
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This could be partially explained by a slowdown in
government spending on the NHS (which has risen in
real terms every year since 2011, but only very slightly),
as part of the more general cuts to public spending,.
Another explanation is the difficulty of recruiting staff,
meaning that more had to be spent on agency workers
to plug the gap. However, many commentators are
beginning to think that the underlying model is
unsustainable.
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This deterioration in the NHS’s finances has coincided
with the ongoing row about junior doctors’ contracts. If an agreement car;
may struggle even more to maintain sufficient staff levels and keep up reg

i,
i
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So what potential reforms could be introduced to combat these problems, ) —

TN

obvious reforms (e.g. clearing out superfluous layers of management) hav: §\ \

. W

One option could be to introduce a small charge for visits to the GP. This s TR

and missed appointments (the average person has about five GP visits per. s
revenue for the service. Another possibility could be to cut down the care {

problems are deemed to be their own fault, e.g. smokers. This would save
moral objections to this course of action. Another idea is to integrate prov.
services with care services for the elderly or disabled, which are currently
Streamlining the interactions between these two services could lead to big

i
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Alternatively, the government could simply raise taxes. If the public wish;
the current standards of service, this may be inevitable, given the increasir

Use the data

1. Suppose total government spending in 2015/16 was £750 billion. Using thel?’g
and Figure 2, calculate the size of the NHS’s deficit as a percentage of its tot

2. (a) The article states that the NHS recorded a deficit of £0.93bn in April-Ju
is likely to be higher or lower than this for Jan—-March 20167
(b) Given this, does the prediction of a £2.2bn deficit for 2015/16 seem lik
underestimate?

COPYRIGHT
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Test your knowledge...
1. Using Figure 1, describe the trends in NHS satisfaction between 2000 and 2

2. Define the term ‘government failure’.

Extended-response question

1. Discuss the effectiveness of introducing a £5 charge for visits to the GP, u5|r\\ ;9
failure. -
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Answers

Mark scheme: extended-response questions R

25 marks %‘\‘\\\:\g\&\\\\&\\
22
Level of Response | Response i

P

Strong answer with well-grounded evaluation
. Clear understanding of the economic ideas
o
B
’

5 . Applied accurately to the question, using supporting data
¢  Sound, well-reasoned analysis

B

e  Strong, well-supported evaluation

Strong answer, with some good evaluation §\ §
e  Clear understanding of the economic ideas % \\g\\
4 . Applied accurately to the question, using supporting data b\k\\\\\§
. Some sound, well-reasoned analysis S
J Reasonable evaluation content, with some support \\\%\\\\\\\
Reasonable answer, but poor evaluation v §

i

S

&\\\\\\\\\\\\\ﬁ

e

. Adequate understanding of the economic ideas

3 e  Satisfactorily applied to the question, using some supporti

e  Adequate analysis, might be underdeveloped or lacking in E
. Reasonable attempt at evaluation, but lacking support for

" SRR
Fairly weak answer @\
. Limited understanding of economic ideas \\ ;\‘\5
B F

. Loosely applied to the question s
2 oo Y app . q . § \\
. Limited analysis, may be unfocused or incorrect \\ %\
: 3

. Limited attempt at evaluation, likely to be unsupported S
Weak answer \\&‘\\QQ\§

. Poor understanding of relevant economics "
e

e  Very poor analysis

. Unsupported or irrelevant evaluation
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Case Study 1 - Innovation at Ford
Data response questions
1. (a) 102.29%

(b) 61.4%

2. VW’s profit fell massively as a result of the emissions tests scandal in September 2G:

3. One of the big disadvantages of specialisation is that workers get fatigued / bored
over again. Ford tackled this by offering very high wages, encouraging them to m
that there are other disadvantages of specialisation, but this is the one that relate

4.  Of the four factors of production (land, labour capital, enterprise), capital probabl
success (the machines used on the assembly line). You could also argue that it wa
their rivals, as this is what the article is mostly concerned with.

Test your knowledge... Number of
1. Your PPF should show a pivot outwards of the PPF as shown in  other goods 4
the graph (right). 1 mark for labelling axes correctly, 1 mark for
showing initial PPF, 2 marks for showing pivot out (1 mark if you
showed a parallel shift out — right idea but not quite correct, as the —_
guestion assumes production increases only in the automobile industry).

»

Price
A S
\N S
Prloooooool2 2. You should show a shift to th
market price and higher quan

Py o :L
1
1

(left). 1 mark for correct labe
D1 . correctly, 1 mark for identifyi
. » Quantity identifvi ilibri

QO identifying new equilibrium.

Extended-response question

1. Inthis case, one advantage of specialisation is that teachers should become exper
teaching it all the time. After several years of teaching, a teacher should be famili
and be better able to tackle them than if they covered a wide range of subjects.

However, it could be argued that teachers may lack a certain breadth of knowledg
for them to make important links between subjects (after all, different subjects ar
Furthermore, it is possible that specialisation would make a teacher tired of their
the same things year on year. It is also possible that teachers may get overly attac

(e.g. in economics, new developments occur regularly) — but this could also be true;;

Another disadvantage of not specialising teachers is that it might be hard to recru

different subjects: teaching could be of a lower standard in a teacher’s less-preferre

Case Study 2 — Black gold
Data response questions

1. At the start of 2014 the price was just under $100 a barrel (say $98), and at the st 'E

under $40 a barrel (around $37). This is a fall of around 62% [(98 —37) + 98]. 55—

2. Inthe short run, we assume that consumers can’t change their habits quickly (e.g.
of transport from a car to something else), so they don’t respond to changes in oil
price inelastic). In the long run, consumers can change their behaviour more, but
has few good substitutes.

Test your knowledge...
1. Renewable energy is a substitute for oil in many cases, so a growing interest in the
expected to reduce the demand for oil. (1)
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2. (a) Thisdiagram (right) should show a shift to the left in demand,
resulting in a fall in price and quantity. 2 marks for correct
labelling, 2 marks for showing shift correctly.

Price

s
=
= -
\\\.

\\\
\\

Price @ \&

-
\\
i .

oA

SR
-
I \ @
- o
(b) This dllagr.am (Ieft.) shc?u *\M
resulting in a fall in pric e
marks for correct labell \\\ -
correctly. §\\
. . £
QQ Quantity Note that in these diagrams \\\\\@\

—_— inelastic, but this is not nece — \
2 \\\
Extended-response question ) \\\\\\
1. Renewable energy is an alternative source of energy to oil, so in Price :

economics terms we call it a substitute. Since the price of this A \%\\\\\\\

substitute has fallen, demand for oil will shift to the left, as shown.

/////////
4 Ay

The shift in demand reduces the quantity and price of oil in the
market. There are some additional points you could make for

-~

///,;/‘%,

evaluation marks: i o \\

P ------ ] \\\

- There might be a time lag between the introduction of this \l/ ! \\E\\\\\\
new technology and a change in demand for oil; it takes P, -----+

gy g 2 \\\\

time to switch between the two types of energy sources.
- Demand for oil might become more price elastic, since
_ ght o re p 4 \\\\\\\\\\
there is now another viable substitute good. o
- The size of the change in demand depends on how cheap and clean
the new technology is.

Case Study 3 — The UK dairy market in decline
Data response questions
1. The three functions are: rationing, incentive and signalling.

2. Atits peak the price of milk was just under 35p per litre (say 34.5p). By Dec 2015, t
The percentage change is: ((34.5 — 24 + 34.5) * 100 = 30% fall in price (accept 27—33§

3.  This statement might be partially true, but the number of dairy producers is not the§

examples of why this statement might not hold include: ::

- The number of dairy farmers may be falling but if the remaining farmers incre
will not rise

- If people’s demand for milk falls, this could offset the Price of milk
effect of a fall in the number of producers +

- If supply from foreign milk producers remains high, prices
may not increase

COPYRIGHT
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Test your knowledge...

1.  Your diagram should look something like that on the right: price 09 :
should definitely have fallen, but quantity may have risen or P = . P
fallen (or remained unchanged, as in this diagram) depending Edu€&t|0ﬂ ‘
on the size of the shifts in demand and supply. In your answer P,

you must clearly show the change in equilibrium from A to B.
1 mark for labelling axes, 1 mark for shift in supply, 1 mark for
shift in demand, 1 mark for change in equilibrium.
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2. Possible variable costs could include: cost of food for the cows, utility bills (th
on the type of tariff), transport costs, and labour costs. Fixed costs (costs that ¢;
include: cost of land, utility bills, and cost of certification (e.g. for organic farm
variable depending on the situation (e.g. cost of buying cows might be fixed o
example for each type of cost.
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3. Since the demand curve is equal to the average revenue curve (1), this sugges
be relatively flat (1). In other words, average revenues fall only gradually as o

Extended-response question

1. There's noright answer to this. On the one hand, it might be bad for milk produc
substitutes even when the price is higher — this could be an indication that our de
the other hand, it could indicate a gap in the market — if dairy farmers can create a §
your average milk (in terms of taste, quality, etc.) then consumers may be willing tc.
answer should look at both sides of the argument.

e

i

S
s

Case Study 4 — Football ticket prices
Data response questions
1. (a) Thetickets are below the market price.

2

i
(b) (i w»
2. These C|L'le are. based !n London, where living costs are much higher than the rest i
charge higher ticket prices. \\\\\\\\\
3. Thereis no right answer to this. If clubs were profit maximisers, we would expect t
(although arguably they already are high). However, they may anticipate that cha -
fans, leading to lower profits in the long run, so perhaps keeping prices relatively | § \\
Alternatively, some clubs may genuinely care more about the % \§
welfare of their fans ’Fhan maximising their profit. It probably Price A \\\\\\\\\\\
depends on the club in question. %: %
-
Test your knowledge... E\Qg\\\&
%A0D -4 " o
1 (@) PED=289D 4 _ 45, . E
%AP 20 : i
1 mark for method, 1 mark for answer. \\\\\\\\\\
(b) Since the value is between 0 and -1, this indicates that
demand is inelastic. (1)
2. (a) Your diagram should look something like this (top right):
1 mark for labels, 1 mark for inelastic demand curve, 1 mark
for perfectly inelastic supply curve, 1 mark for showing the
equilibrium price and quantity.
(b) Your diagram should show a shift to the right in supply, Price A

resulting in a fall in price and an increase in quantity (as shown
in diagram bottom right).

Extended-response question

1. The argument from the football clubs’ perspective could be that P1
increasing ticket prices will increase revenues, allowing the club to
invest for the future (e.g. buy more players, expand youth
programme, expand stadium size, etc.). Furthermore, at the market P,
equilibrium level, all of the tickets should still be sold. In this case,
then, the market would be economically efficient.

COPYRIGHT
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This argument seems sensible when applied to normal markets, but
you could argue that it doesn’t seem to work in this case: as
Liverpool’s experience shows. The price rise might lead to a
backlash from fans, who might not buy tickets even if they could as
a protest (higher ticket prices could be regressive, i.e. unaffordable to lower-inco
way in which this differs from a normal market: usually in economics we assume t
and that they are not concerned with the outcomes of others.

'3
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Case Study 5 — Organic food vs Poundland
Data response questions
1. Figure 1 shows that Poundland had a 0.28% share of the retail market in 2013, an

value of the retail market in 2013 was £360bn. Therefore, Poundland’s market shag

(rounded). Answers from 0.95-1.05bn are acceptable.

2. Poundland’s products are likely to be inferior goods (i.e. after a fall in income, dem
income elasticity of demand should be negative.

3. Thereis no right answer to this: there are many possible explanations. One could
discount retailers found that they were happy with the quality of these goods, and
this way. Another could be that the end of the recession hasn’t seen incomes rise
change their habits.

Test your knowledge...
_%AQD  -12.9
2%AY -5

from the graph). Since 2.58 > 1, this means that organic produce is a luxury
falls more than proportionally). (1)

1. (@ YED

= 2.58 (1 mark for formula, 1 mark for answer

(b) This is not true for France, since the article states that there was consistent grg

the recession (i.e. demand increased despite a fall in income), so organic pro
France.

Extended-response question
1.  Your answer should first note that demand for discount goods would be expected

and demand for organic goods would be expected to rise (since they are luxury goo;

ways in which you could evaluate this answer:
- The passage states that discount retailers such as Poundland have continued
recession. This may indicate that consumers are favouring these discounters
(change in tastes). However, you could also argue that a significant rise in in
- The change in the market for organic food will also depend on people’s taste
or French consumers, are not convinced that organic food is worth paying m
extra income elsewhere.
- The answer depends on the size of the increase in income, and whether that
consumers or not.

Case Study 6 — Online news vs print news

Data response questions

1. There are any number of possible answers; for example, you might have: Pepsi an
branded products (e.g. breakfast cereal), different brands of toothpaste, different

2. Tabloids (e.g. The Sun, Daily Mail) have declined more than the broadsheets (e.g.
relative terms. There are many possible reasons for this: perhaps online tabloid ¢
content, or perhaps the privacy/phone-hacking scandal surrounding The News of
buying tabloids.

3. In 2005, the circulation of each newspaper (in descending order) was roughly: 3.4
sums to 7.8m in total. By 2015, the circulations were roughly 2m, 1.7m, 0.5m, 0.4
total. This is a fall of around 3m copies, or a 38.5% fall (answers between 2.7m an

4. Some news content is easier to access for free than others. Publications which off
Financial Times) are more likely to have customers willing to pay for a subscription
information elsewhere. If The Daily Mail started charging for access to its website
much success, since similar content can be found elsewhere for free.

Test your knowledge...

1 (a) YED — %AQD of Good A

%AP of Good B
(b) Change in demand for online news = (0.7 x 6) = (+) 4.2%

(1)

2. Possible reasons: reading print newspapers improves information retention, onlin
with adverts, online newspapers may require readers to click to another page, so
reading a paper copy of something to reading online.
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Extended-response question
1. Afallin the price of tablets/e-readers would make online news more accessible to

the ‘price’ of online news.
s

o
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a
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Based on this, we would expect that demand for online news would go up, and de

(since it is a substitute good). There are several factors which might influence the

- The size of the price fall.

- The extent to which people switch to using tablets/e-readers (i.e. the price e
readers).

- Many people already have laptops or smartphones that they might use to re
affected by this price change.

- Many people will simply prefer print news, regardless of the cost of devices t

e

i

"

Case Study 7 — The UK housing market: pulling up the ladder?
Data response questions
1. In 2001, private renting only made up around 10% of tenures, and by

s

S

2014 this had increased to almost 20%. This is a doubling of the share 4 S
of tenures (or a 10 percent point increase). \\\\%\\\\\\\s
2. This suggests that average earnings have not changed much over the Ps1 \\ §

period (if average earnings had increased in line with house price Per \\\\\‘\\
e 2
increases, we would expect the price-earnings ratio to be flatter). \\\\\\\?E\\\\\\\\\

EE
e
Test your knowledge...

1. This statementin nor-ma.tlve, since it is a value judgment (even though \\\\\\\\\
many would agree with it!) (1) 0 §\ |
-
2. (a) A negative externality is the cost to third parties that is not § &
reflected in the price of a good. (similar definition acceptable) (1) @\\\\\\\\\\
(b) Negative externalities could arise from housebuilding via destruction of the n \\ §

pollution, for example. (1 mark for each) S
(c) 1 mark for correct axes, 1 mark for showing MSC and MPC (they do not have W%
showing MPB=MSB, 1 mark for showing how the social equilibrium price and \\\\

and quantity, 1 mark for showing welfare loss. T

Extended-response question

1. The benefits of this scheme would be that more new homebuyers would be able t
should increase the standard of living of those affected, and it may boost econom
immobility of labour.

On the other hand, the fact that existing planning rules will have to be scrapped sug
external costs to building these homes. This could negatively affect the quality of
be an opportunity cost to this scheme if the government subsidises the low price
In your conclusion, you could be either for or against the policy, so long as your arg:

Case Study 8: Market power: Gazprom
Data response questions
1. This was around the time of the financial crisis, which would have meant that
(including gas) would have fallen. This is the most likely explanation of why Ga

COPYRIGHT
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2. This can’t be inferred from the graph. Although Gazprom was producing more
example, prices were low or costs were high.

3. (a) 549 billion cubic metres {400 divided by 0.729 to the nearest billion)
(b) 2,963 billion cubic metres (400 divided by 0.135 to the nearest billion)
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Test your knowledge...

1. Possible objectives include: profit maximisation, growth, survival, increasing market

maximisation, satisficing, maximising social welfare (1 mark for each up to two).

2. Your diagram should show the long-run average cost curve for a firm:

A
Cost (£)

At high levels of output the firm can achieve low average costs due to economies of
productively efficient, potentially passing on these cost savings to consumers in the
scale (which is when an increase in inputs leads to a greater than proportional rise i

sources, e.g. financial economies (buying raw materials in bulk), managerial economi

marks for diagram, 3 marks for explanation).

Extended-response question

1.  Your answer should explain that the entry of the US into the gas market should mak
Competitive markets are associated with lower prices for consumers and lower pro
Gazprom). However, this depends on several factors.

Firstly, it may not have been the case that Gazprom was exploiting its market powe
market position to improve innovation it could have been beneficial for consumers,
recognise somewhere that not all monopolies are bad for consumers). It may also h
the EU were controlling Gazprom’s market power to a certain extent (the fact that t
least evidence that they are aware of their market power).

The impact of the US’s entry into the market will also depend on how sustainable it i
US, it may no longer be willing to export gas to the EU. Similarly, if the supply of gas
able to contribute to the export market.

Case Study 9 — Quasi-public goods
Data response questions
1. (a) This pattern arises because traffic is higher in the summer months (Q2 and Q3
(b) This was the period of the recession: road traffic might have fallen as people ¢
walk/cycle rather than use cars. The number of vehicles used to transport goo
economy slowed down.
(c) Theindexfor Q4 2015 is around 124, and the index for Q4 1993 is 100, so this
increased by 24%. 300 billion miles plus 24% = (300 * 1.24) = 372 billion vehicl
acceptable.

Test your knowledge...

1.  Public goods are non-excludable (1). This means that one person’s consumption of
person {(who hasn’t paid for it) from consuming that good (1). Public goods are also
person’s consumption of the good does not diminish another person’s ability to con

2. (a) Roadswould seem to be non-excludable (1), since one cannot be prevented fr
using that road. However, they are not completely non-rival (1), since if too m
congested. Therefore, roads aren’t a pure-public good (1), they are a quasi-pu

(b) As with roads, police services seem to be non-excludable (1), but they are also
are only a finite number of police officers on the job at any one time, so if too
they will not be able to help everyone. Therefore, policing isn’t a pure-public g
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Extended-response question

1. At the start of your answer you could explain that public goods have the character
excludability in consumption. Public goods have a high private cost but a relativel
person pays for all the roads in the UK, it will cost them a huge amount, but they
benefits: everyone else will ‘free ride’.
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You could mention that individual roads could be private (or a small-scale ‘police’
system as a whole would not be able to function effectively if it were private.

Case Study 10 — Should the government tax sugar?

Data response questions

1. Thetaxis 16.5% of the retail price plus £3.79. 16.5% of £8 is £1.32, so the total a
the total price (rounded to the nearest whole number).

e

i

2. Two of the main dangers are: (1) that if people are addicted to smoking, their inco E : \\\\\
a rise in imported/smuggled cigarettes that avoid the tax. M
3. At 4% ABV, total tax is 18.37 x 4 = 73.48 pence per litre. For half a litre, the tax w &\\\\\\\\\\\\\%
i,
Test your knowledge... §\ \
1. These types of goods create negative externalities: this is when the social cost of ¢ \\\\\\\\‘\{\‘
private cost (sometimes these types of goods are called ‘demerit goods’). s
%A0D 2 G
2. (a ppp-= 08 ——Z_-_04 (1 mark for method, 1 mark for an \\\\ﬁ\\\\\\“
%AP  +5

(b) This indicates that demand for alcohol is inelastic (since -1 < PED < 0) (1) \\\\\\\
3. It's possible that the sugar tax could be regressive: i.e. poorer people spend a larges; %\ §
This is because a sugar tax would be a fixed amount, rather than means tested (w Bo@
the person’s income). This would worsen inequality. This does depend on the beh @\\\\\\\\\\
families were to substitute other goods that weren’t taxed, this wouldn’t be a pro & \%

up to four). W
Extended-response question \\\\\

1.  With this question the main point you should discuss is how Price
the price elasticity of demand for sugar will affect the success
of the policy. If demand is price inelastic, the diagram should
look something like that on the right.

Since demand is price inelastic, the tax increases the price
from Po to Py, but quantity demanded only falls a small P S -
amount from Qo to Qt, with much of the tax burden falling on

the consumer. Since the whole purpose of the tax is to reduce Po
consumption, in this case the tax is ineffective. It may have Lhhh
regressive effects on the incomes of those who consume a lot
of sugar.

As an evaluative point, you could argue that the government
could use the tax revenue to help fund greater NHS spending. 0
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You should identify that if demand were elastic, then the
result would be different: in this case, a tax would significantly
decrease sugar consumption (which is the intended effect).

You may argue that a tax would be more effective if it were combined with other
consumption, such as an information campaign on the dangers of excessive consu
regulating the amount of sugar food producers are allowed to use in their food is
better alternative to the tax).
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Case Study 11 — Solar panel subsidies

Data response questions

1. (a) According to the article, the subsidy costs households £7 each, so for 25 millio
(b) The new cap is £100 million, so this is £75 million more.

2. The UK has significantly higher subsidies than all other G7 countries except for the
considering that the USA’s GDP is several times larger than the UK’s, so as a propors
the most out of these countries.

3. The original subsidy was 12.47p per kWh. A cut of 84% would mean that the new s
kWh (12.47 - (0.84 * 12.47)).

Test your knowledge...
1. Onedisadvantage is that it can encourage inefficiencies in firms (1), another is tha
of government spending) (1).

2. Possible answers include: information provision, funding research into solar panel
increases consumer income (1 mark for correct point).

Extended-response question

1. The main advantage of increasing subsidies is that it leads to more energy generat
avoid most of the negative externalities associated with fossil fuel energy generat
negative externality from production diagram).

Another argument in favour would be that even if costs to the taxpayer are higher §
lower prices in the long term once the benefits of renewable energy are realised.

You should explain the disadvantages of subsidies you stated in question 2: it may e
an opportunity cost involved with the subsidy. ‘

You could mention that the case for subsidising solar panels depends on whether
energy source (you don’t need to discuss any of the science behind this: you could
such as windpower may be more effective).

Case study 12 — A minimum price for alcohol?

Data response questions

1.  This can be broken down into stages (which don’t have to be done in this order): i
unit rather than 50p, then a litre of 40% spirit would have to be at least £16 (4/5 of};
would have to be at least £12 (3/4 of 16). Then if it were 44% strength, it would ha}
10 percent of 12). So the final answer is £13.20.

2. This question is very subjective, there’s no right answer. You might think that the pr
high, so we should be worried. You might think that the proportion isn’t too bad, an
(but we can’t know for sure whether they will keep falling or not). Of course it’s a fa

people who drink moderate amounts very regularly, which could be just as damaging;;

3. The 16-24 age group saw the greatest rise in teetotalism; an eight percentage poin: :

Test your knowledge...

1.  Your diagram should show the minimum price imposed
above the market equilibrium (1). This leads to an excess of A
supply over demand (between Q¢ and Qs) (1). 1 mark for
correct axes, 1 mark for supply and demand curves. Note
that for this question the elasticities of the curves don’t
matter.

Price

Pmin

2.  Possible examples of a merit good include: education,
healthcare, museums, libraries, in-work training schemes (1) Pe f-------
(other answers acceptable if justifiable). Merit goods are
goods that have positive externalities, and the benefits from
merit goods are likely to be underestimated by consumers
(1). This lack of awareness/information about the nature of /
merit goods {and the fact that positive externalities are
usually not included in the price) can explain why they are I
underprovided in a free market (2).
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Extended-response question
1.

Case Study 13 — Reforming the NHS
Data response questions
1.

Test your knowledge...
1.

Extended-response question
1.

After discussing the effect of imposing a minimum price (see diagram in part 1), a
has negative externalities, the key point you should discuss for this question is the
Based on the diagram in part 1, if demand is highly inelastic then the minimum pri
quantity demanded. If this is the case, the policy is likely to be unsuccessful (more
government in revenues, but drinkers will still consume more than the socially op

On the other hand, if the price elasticity of demand is relatively elastic, then dema
will be more successful.

Some other points you could mention in you answer include:

- In reality, it is likely that different groups of people will have different elastic

- The effect of the policy will depend on how much higher the minimum price
price would change demand more, but it would also penalise occasional/mo

- You could mention the effect on businesses: it would be good for pubs (who
the minimum) but bad for supermarkets (who probably charge prices below
SWA’s argument: businesses that provide cheap alcohol would have less roo
usually bad for consumers).

- You could include an externalities diagram, but it is not required.

The passage states that roughly 18% of government spending goes towards the N
was £750bn, this would be £135bn (0.18 * 750). The deficit was about £2.2bn, whig¢
budget (2.2 + 135 *100). Any answer between 1.5 and 1.7% is acceptable. :

(a) It would be expected that the deficit would be higher because Jan—March ar
more health problems (assuming that NHS budgets are not automatically adj
(b) Given this, the £2.2bn seems like an underestimate. If each three-month pe
add up to £3.72bn for the year: way more than predicted, especially if the wi

In this period the proportion of people saying they were quite or very satisfied in
70% in 2010, before falling slightly (1). On the other hand, the proportion of peop
fell to a low of around 18% in 2010, before picking up again slightly (1). (You don’t §
marks: but you must mention whether the trends are going up or down.)

Government failure is where an intervention by the government results in a net w
intervention by the government creates inefficiencies / market failures).

Some of the benefits of this policy are already mentioned in the article: it should d
appointments or missing their appointments, and it should raise revenue for the N
for the NHS by reducing pressure on GPs.

However, there are ways in which this policy could introduce government failure.
genuine health problems from going to the doctor, perhaps making their conditio
the long run (or causing unnecessary deaths).

You could evaluate this point by arguing that the charge could be means tested (i.ei
incomes), so that everyone could afford to go to the doctor if they needed to.

Another potential problem would be administrative costs for implementing such a
revenues. The administrative costs would probably be higher if the charge were m

You could evaluate the policy by arguing that £5 is too high or too low (e.g. you co
multiplying the price by the average number of visits and the size of the populatio
5*5%65 million = £1.6bn, assuming that the number of visits does not change. Sin
deficit, you may argue that this is not high enough, or you may argue that it is a go

A good answer should discuss both the benefits and the costs of the policy, and ev
made.
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